# The Impact of Neighborhood Ethnic Composition on Availability of Financial Planning Services

by James Chong, PhD A. Lynn Phillips G. Michael Phillips, PhD

Abstract: In today's diverse world, providers of financial services must take into account the impact of ethnicity and culture on how—and whether—consumers choose to take advantage of their services. Though many studies have indicated that differences exist between minority and majority group members' financial situations and investment preferences, preferences regarding financial planning services have been less thoroughly analyzed. We used zip codelevel data from the entire United States to quantitatively explore the relationship between the ethnic composition of a zip code and the types of financial planning professionals offering services there and found that significant differences exist among them. iversity. This one word describes much in America today, from its demographic composition to the types of services offered by its financial professionals. Differences in race, income, education, marital status, and geographic location abound, and are all important when trying to predict people's attitudes and behavior. This holds true in the world of financial planning. While not a popular idea, ethnic and racial background, in addition to other demographic variables, has been shown to greatly impact how people allocate their resources.

Plath and Stevenson demonstrate that African-Americans "differ markedly from their Caucasian counterparts" when comparing portfolio composition and choice of financial products.<sup>1</sup> Similarly, research has found that blacks, Asians, and Hispanics invest less heavily in stocks than do whites.<sup>2</sup> Expanding on this, Chong, Dow, and Phillips showed that the ethnic composition of neighborhoods has a strong impact on how people in the neighborhood allocate resources across risky assets.<sup>3</sup> As such, it becomes increasingly important to identify subgroups of consumers that could be potential target markets.

In a recent report to the Financial Planning Association membership, it was written, "There are many households in the United States and not enough advisers to serve them all. By keying in on your target market, you can be more effective in your marketing and service of clients."<sup>4</sup> Such a practice also helps financial planners "identify and target potentially profitable segments of the population."<sup>5</sup> Target markets, or client segmentation, however, can be defined not only by client asset level but also by demographic criteria such as "age, gender, life-cycle stage, lifestyle and ethnicity."<sup>6</sup> As

This issue of the Journal went to press in October 2011. Copyright © 2011 Society of Financial Service Professionals. All rights reserved.

a result of client segmentation, or lack thereof, there has been anecdotal evidence of growth opportunities for financial advisors.<sup>7</sup> However, empirical examination into such opportunities has been sorely lacking, a gap in the literature which this paper's exploratory quantitative analysis begins to address.

In this paper, we looked at the impact of race and ethnicity on financial planning in a new way. Rather than examining ethnicity's impact on how individual consumers and their neighbors allocate resources, we conducted an exploratory study of how neighborhood ethnic mix relates to types of financial planning services being provided to that neighborhood. Using data from almost every zip code in America, we have found that even holding income and education factors constant, there are statistically significant differences in the availability of financial planning services that correspond to different ethnic compositions of zip codes.

This paper begins with a discussion of the data and of the overall picture of financial planners as presented by those data. We then explain our analysis methods and discuss the variables used in the study. The majority of the paper then examines several interesting patterns associated with the provision of financial planning services. Last, we discuss several specific points that financial planners interested in expanding their practices may wish to consider, and we present several future research ideas.

# Data

Our research used a novel data source: a comprehensive nationwide telephone directory (www.superpages.com), combined with zip code-level data from the Survey of Consumer Expenditures and other government surveys aggregated by EASI Demographics, an independent provider of demographic and market research data. From the EASI Demographics data, we found 39,749 zip codes with information on:

- Asian households
- Black/African-American households
- Hispanic households
- Other households, e.g., Native American, Eskimo (denoted as "Other")
- White/Caucasian households
- Median household income

- Number of adults, age 25 and older, with less than high school education (less than high school 25)
- Number of adults, age 25 and older, with graduate education (graduate degree 25)
- Median household size
- Males/females, age 16 and older, who are in the military (male/female military 16)
- Zip codes with less than 50,000 population (population 50)
- Zip codes with between 50,000 and 100,000 population (population 50–100)

All these variables were included in our analysis as independent variables for the purpose of determining the specific impact of race on the types of financial planning services offered, apart from the impact of education, income, population density of the area, etc.

# **Methodology**

To test the relationship of these variables to the types of financial planning services provided in a particular zip code, we had to first generate a list of types of financial planning services that were offered in particular zip codes. We did this using data from superpages.com. First, we collected all directory listings under the term "financial planning" in the United States-approximately 340,000 entries. Next, we assigned the listings to different basic categories of financial planning services based on information provided in the listing, such as one's professional designation or title. We were surprised at the diversity and spread of services offered under the search term "financial planning." (Indeed, there are so many designations or certifications within the financial planning industry that this has led to confusion among consumers.8)

In terms of basic categorizations, 26% of listings offered accounting and tax services,<sup>9</sup> 10% offered bankruptcy and legal services, 12% offered insurance services, 12% offered investment services, 6% offered planning services, and 34% of the listings only gave the financial planner's name without any other identifying information. These listings included registered certified public accountants (CPAs),<sup>10</sup> lawyers, banks that offered financial planning services, certified financial planners (CFPs), and many other types of financial professionals, all of whom called themselves by the same label—"financial planners"<sup>11</sup>—in the phone book.

As the Financial Planning Standards Board has indicated, "Because the term 'financial planner' is loosely regulated and often poorly understood by the public, companies in the financial services industry may choose to define the term according to a person's job, rather than the person's competency.... [Advisors] who are not qualified to deliver financial planning may hold themselves out as 'financial planners.'"<sup>12</sup> As a result, this makes it impossible to determine the services actually provided by those who list their names alone, with no professional designations. Because of this problem, we excluded from our analysis those who listed their names alone in the phone book, as we could not accurately describe what services they offered.

After noting this basic spread of services offered, we further divided up the listings so that we could obtain a specific count of each type of financial service offered in a zip code. Our final list separated entries in the phone book into eight distinct groupings based on the key words mentioned in the listings. In alphabetical order, these were as follows: First was accounting, which also included the key words "bookkeeping," "enrolled agent," "tax," and their variants. Second was banking, which also included such key words as "credit union" and "thrift." The third category was CPA, and the fourth was credit counseling. Fifth was insurance, which also included appropriate professional designations. The sixth was investment. The seventh was legal, which also included the words "trusts," "wills," and "estates." Finally, the eighth was planning, which also included appropriate professional designations such as CFP. Note that despite its name, this group is only a part of the broad financial planning field, which includes all eight categories of offered services.

We used these categories as our set of dependent variables. Having determined how many financial planners in each zip code offered a particular type of financial planning service, we ran a series of regressions to determine the relationship between our demographic zip code data and the number of financial planners offering each of the eight types of financial services in that zip code. Our results were significant and striking.

# Findings

## Overview

Before specifically testing the relationship between ethnic composition of a neighborhood and the type of financial planning service offered, we thought it useful to plot the number of white (or Asian, black, Hispanic, or Other) households in a zip code against the number of directory listings in that same zip code that offered any type of financial planning service. As shown in Figure 1, the total number of financial planners in a zip code tends to go up with the number of white households in that zip code and tends to decline with the number of minority households.

This result may not be surprising, given the common stereotype that financial planners are white men.<sup>13</sup> In 2002, a CFP Board survey showed that approximately 95% of the almost 22,000 CFP professionals who responded were whites.<sup>14</sup> Its implications, though, are potentially distressing: minority neighborhoods do not have the same access to financial planning services as do white neighborhoods. Of course, this figure does not take other variables, such as education and income, into account. As they stand, it merely shows that different ethnic groups may potentially vary in their ability to take advantage of financial planning services, a point that is addressed later in this study when we discuss how we used statistical methods to control for income and education differences.

Earlier, we had alluded to the practice of client segmentation by investable assets,<sup>15</sup> which may play a part in the availability of financial planning services in minority neighborhoods. Since "more than 80 percent of advisors require clients to have at least \$100,000 in investable assets before a financial planning engagement becomes a realistic outcome, and more than 50 percent set the minimum asset level in excess of \$500,000,"<sup>16</sup> financial planning services may be beyond the reach of lower income households (usually blacks and Hispanics).<sup>17</sup>

## **Regression Analysis**

Our next step was to use statistical methods to determine whether or not a similar relationship existed between the ethnic composition of a zip code and the number of different types of financial planners, while holding constant education, income, and other demographic variables. We did this in separate studies for each of the eight categories of financial planners, which helped us to identify real and significant relationships between the ethnic composition of neighborhoods and the types of financial planning services available therein. It is important to note that our eight studies did not purport to separately estimate causes for the supply of financial planning services or the demand for such services. It is possible that both consumer preference and the availability of financial planners may have an impact on the observed distributions of financial planning services. As such, even if financial planning services are predominantly provided by whites practicing client segmentation, we should not assume that consumer demand has no part to play in reinforcing such practices.

Our first analysis examined the number of accounting and tax services offered in a zip code. A separate analysis for CPAs is done later. This first model, like the seven which follow, used the multiple regression statistical technique to estimate the extent to which various independent variables impacted a dependent variable-in this first case the number of accounting and tax services offered in a zip code. We began each analysis by including a variety of variables besides ethnicity that could have been associated with the number of financial planners in an area. These control variables included education, household income, median household size, military participation, and population size of the zip code. We then also included the number of various types of racial and ethnic households in a zip code. If the negative correlation between the number of nonwhite households and the number of financial planners was due to income or education differences between the ethnic groups, then we would expect the actual ethnic composition of a neighborhood to add little explanatory power to the statistical model.



JOURNAL OF FINANCIAL SERVICE PROFESSIONALS / NOVEMBER 2011

The analysis showed that the number of accounting and tax services in a zip code increased with both the number of white households and the number of black households in that zip code and was statistically unrelated to the number of Asian, Hispanic, and Other households in the neighborhood. The regression analysis of accounting and tax services is fairly mathematical, but can be found in Table 1.

This discrepancy between white and black as one group and other races and ethnicities as another group raises the question of the inherent differences between the first and the second. Familiarity with and acceptance of American culture<sup>18</sup> comes to mind as one possibility, as does fluency in English,<sup>19</sup> strength of "old country" lifestyles<sup>20</sup> that could last for generations,<sup>21</sup> religious differences,<sup>22</sup> and other cultural variables. For the moment, however, we merely note that a difference does seem to exist.

Our second analysis used the same explanatory variables in an examination of the number of banks that advertised financial planning services in a zip code. This result is even stronger than the first. Holding education, income, and other variables constant, the number of listings of banking in a zip code not only increases with the number of white and black households, but also significantly decreases as numbers of other minority households in a zip code increase. These regression results are in Table 2.

Banks might find this analysis particularly of interest, as examining the demographics of unbanked households may provide clues as to whether banks are meeting the demand for banking services in general and financial planning services in particular. In a survey conducted by the Federal Deposit Insurance Corporation,23 7.7% of U.S. households are unbanked. Racial groups least likely to be unbanked are Asians (3.5%) and whites (3.3%), while those most likely to be unbanked are blacks (21.7%), Hispanics (19.3%), and Others (i.e., American Indian/Alaskans, 15.6%). Also, more likely to be unbanked are households where Spanish is the only language spoken (35.6%). There is also evidence that a country's institutional environment influences beliefs (and the use of financial services) of immigrants, in that "immigrants from countries with more effective institutions are

## TABLE 1

#### Dependent Variable: Accounting

(Method: least squares; included observations: 39,749; White heteroscedasticity-consistent standard errors & covariance)

Variable	Coefficient	Std. Error	<b>T-Statistic</b>	Prob.
С	-12.72521	5.765837	-2.207002	0.0273
Asian	6.89E-05	0.000253	0.272733	0.7851
Black	0.000334	5.98E-05	5.582141	0.0000
Hispanic	0.000242	0.000144	1.677220	0.0935
Other	-0.000420	0.000236	-1.776809	0.0756
White	0.000832	4.28E-05	19.44560	0.0000
Median Household Income	-7.13E-06	4.63E-06	-1.539268	0.1237
Less than High School 25	-9.50E-05	8.92E-05	-1.065118	0.2868
Graduate Degree 25	0.001377	0.000230	5.994513	0.0000
Median Household Size	-0.151075	0.069455	-2.175148	0.0296
Male/Female Military 16	-0.000268	9.85E-05	-2.716497	0.0066
Population 50	13.09159	5.768297	2.269576	0.0232
Population 50–100	7.541841	5.681088	1.327535	0.1843
R-squared	0.342129	Mean depende	nt variance	2.239880
Adjusted R-squared	0.341931	S.D. depender	nt variance	6.825444
S.E. of regression	5.536900	Akaike info	criterion	6.261074
Sum squared resid	1218197	Schwarz c	riterion	6.263883
Log likelihood	-124422.7	Hannan-Quin	n criterion	6.261963
F-statistic	1722.079	Durbin-Watso	on statistic	1.826536
Prob (F-statistic)	0.000000			

### TABLE 2

#### **Dependent Variable: Banking**

Variable	Coefficient	Std. Error	<b>T-Statistic</b>	Prob.
С	-0.804694	0.764186	-1.053008	0.2923
Asian	-0.000162	2.30E-05	-7.041267	0.0000
Black	4.92E-05	1.13E-05	4.337113	0.0000
Hispanic	-3.70E-05	1.58E-05	-2.345087	0.0190
Other	-0.000313	2.72E-05	-11.49754	0.0000
White	7.33E-05	6.87E-06	10.67016	0.0000
Median Household Income	3.55E-06	6.16E-07	5.756481	0.0000
Less than High School 25	0.000165	1.47E-05	11.23974	0.0000
Graduate Degree 25	0.000308	3.46E-05	8.878112	0.0000
Median Household Size	-0.085702	0.009463	-9.056653	0.0000
Male/Female Military 16	7.53E-05	2.59E-05	2.903601	0.0037
Population 50	0.841427	0.764395	1.100776	0.2710
Population 50–100	0.514493	0.752399	0.683803	0.4941
R-squared	0.332568	Mean depende	nt variance	0.340537
Adjusted R-squared	0.332367	S.D. depender	nt variance	1.059948
S.E. of regression	0.866071	Akaike info	criterion	2.550628
Sum squared resid	29805.16	Schwarz c	riterion	2.553437
Log likelihood	-50679.46	Hannan-Quin	n criterion	2.551518
F-statistic	1649.973	Durbin-Watso	on statistic	1.735893
Prob (F-statistic)	0.000000			

more likely than other immigrants to have a relationship with a bank and to use formal financial markets more extensively."<sup>24</sup> This influence dissipates after immigrants have been acculturated in the United States.<sup>25</sup> From this research, it appears that banks wishing to expand their financial planning services might wish to target neighborhoods consisting of Hispanics and Others. However, the prior research also suggests that there may be deep cultural barriers to overcome before these ethnic groups become comfortable using depository services.

Third, we examined the number of CPA listings offering financial planning in a zip code. The results are similar to those of the first regression (the general listings of accounting and tax services): the number of CPA listings increased with the number of white and black households in a neighborhood and was not statistically related to the presence of other ethnic groups. The regression results are shown in Table 3.

Our fourth analysis focused on the number of credit counselors found in different neighborhoods. The regression showed that as the number of Hispanic households increased, the number of credit counselors in that neighborhood also increased. Additionally, the number of credit counselors is positively related to the numbers of white and black households in a neighborhood, but is negatively correlated with the number of Other households in that neighborhood. Interestingly, the number of Asian households in a zip code is not at all correlated with the number of credit counselors in that area. These numerical results are in Table 4.

In a survey conducted by the Financial Industry Regulatory Authority (FINRA) on the financial capability in the United States, the data "reveal a sharp disconnect between self-reported financial knowledge and math skills and responses to the financial literacy questions and questions designed to test math skills," especially among blacks and Hispanics.<sup>26</sup> Further, a relationship appears to exist between consumers' credit and financial literacy and undesirable financial outcomes, e.g., being denied credit or experiencing a bad financial event like eviction or declaring bankruptcy.<sup>27</sup> Therefore, in the case of credit counselors, our results suggest congruence between the demand and supply of financial planning services.

## TABLE 3

#### **Dependent Variable: CPA**

(Method: least squares; included observations: 39,749; White heteroscedasticity-consistent standard errors & covariance)

Variable	Coefficient	Std. Error	<b>T-Statistic</b>	Prob.
С	-353.7992	157.3642	-2.248282	0.0246
Asian	-0.006574	0.006487	-1.013344	0.3109
Black	0.006444	0.001728	3.729889	0.0002
Hispanic	0.005812	0.004556	1.275657	0.2021
Other	-0.009554	0.007300	-1.308681	0.1906
White	0.021988	0.001274	17.25867	0.0000
Median Household Income	-0.000426	0.000132	-3.231615	0.0012
Less than High School 25	-0.003270	0.002643	-1.237279	0.2160
Graduate Degree 25	0.038944	0.006420	6.065787	0.0000
Median Household Size	-0.846640	1.966864	-0.430451	0.6669
Male/Female Military 16	-0.006852	0.002837	-2.415382	0.0157
Population 50	364.3715	157.4331	2.314453	0.0206
Population 50–100	191.8981	154.9605	1.238368	0.2156
R-squared	0.265951	Mean depende	nt variance	56.84196
Adjusted R-squared	0.265730	S.D. depender	nt variance	199.0080
S.E. of regression	170.5291	Akaike info	criterion	13.11602
Sum squared resid	1.16E+09	Schwarz c	riterion	13.11883
Log likelihood	-260661.3	Hannan-Quin	n criterion	13.11691
F-statistic	1199.721	Durbin-Watso	on statistic	1.860091
Prob (F-statistic)	0.000000			

#### TABLE 4

#### **Dependent Variable: Credit Counseling**

Variable	Coefficient	Std. Error	<b>T-Statistic</b>	Prob.
С	-0.603714	0.245237	-2.461763	0.0138
Asian	-2.87E-06	1.08E-05	-0.265848	0.7904
Black	4.98E-05	4.51E-06	11.03978	0.0000
Hispanic	4.62E-05	8.82E-06	5.243006	0.0000
Other	-5.22E-05	1.51E-05	-3.467227	0.0005
White	4.89E-05	2.54E-06	19.22295	0.0000
Median Household Income	-3.64E-07	2.20E-07	-1.652009	0.0985
Less than High School 25	-1.63E-05	6.78E-06	-2.406125	0.0161
Graduate Degree 25	1.54E-06	1.00E-05	0.153671	0.8779
Median Household Size	-0.005345	0.003418	-1.563748	0.1179
Male/Female Military 16	3.89E-06	8.63E-06	0.450931	0.6520
Population 50	0.617627	0.245323	2.517601	0.0118
Population 50–100	0.368632	0.241756	1.524812	0.1273
R-squared	0.190925	Mean depende	nt variance	0.103499
Adjusted R-squared	0.190681	S.D. depender	nt variance	0.408911
S.E. of regression	0.367865	Akaike info	criterion	0.838128
Sum squared resid	5377.275	Schwarz c	riterion	0.840938
Log likelihood	-16644.38	Hannan-Quin	n criterion	0.839018
F-statistic	781.4076	Durbin-Watso	on statistic	1.923280
Prob (F-statistic)	0.000000			

Our fifth analysis, in contrast, showed that the number of insurance agents offering financial planning services in a zip code was positively correlated with the number of white, black, and Other households in that area, but negatively correlated with Hispanic households and Asian households. The regression output can be found in Table 5.

Our sixth regression compared our demographic variables to the number of listings for investment services. Similar to the previous analysis, white and Other households were positively related to the number of investment listings, while Hispanic and Asian households were negatively related to the number of investment listings. However, in this case, the number of black households in a zip code did not impact the number of investment service listings in that zip code. These statistical results are in Table 6.

Previous studies have identified a lack of financial literacy in the Hispanic community.<sup>28</sup> While Hispanics (and in some ways, blacks<sup>29</sup>) accumulate wealth at a slower pace than whites due to their "preference for near-term savings, favoring liquidity, and low investment risk at the expense of higher yielding assets,"<sup>30</sup> such a preference may ultimately be a consequence of low financial literacy,<sup>31</sup> which may result in a lack of demand for investment services.

Risk tolerance may also play a role in determining demand for investment or financial planning services. Immigrants into the United States have been found to be more risk tolerant than nonimmigrants, and Asians and Hispanics are more risk tolerant than whites or blacks.<sup>32</sup> While Chinese immigrants are more risk tolerant than Americans, this tolerance is limited to the investment domain (and does not extend to medical or academic decisions) and could be attributed to the "cushion" provided by extended families in a collectivistic society.33 The high-risk tolerance, or low-risk aversion, of Asians and Hispanics implies a lower need for financial planning services as "the value of [financial] advice varies with a client's risk aversion.... In general, the most risk averse households should place the highest value on comprehensive financial planning advice."34

Seventh, we found that the number of legal services providers was positively correlated with the number of

## TABLE 5

#### Dependent Variable: Insurance

(Method: least squares; included observations: 39,749; White heteroscedasticity-consistent standard errors & covariance)

Variable	Coefficient	Std. Error	<b>T-Statistic</b>	Prob.
С	0.829519	2.412655	0.343820	0.7310
Asian	-0.000191	7.15E-05	-2.671939	0.0075
Black	0.000241	2.45E-05	9.835284	0.0000
Hispanic	-0.000466	3.17E-05	-14.67459	0.0000
Other	0.000536	6.58E-05	8.141890	0.0000
White	0.000545	1.65E-05	33.06559	0.0000
Median Household Income	-2.07E-06	1.47E-06	-1.410034	0.1585
Less than High School 25	-0.000175	3.89E-05	-4.486924	0.0000
Graduate Degree 25	-7.87E-05	7.25E-05	-1.086291	0.2774
Median Household Size	-0.033222	0.022194	-1.496888	0.1344
Male/Female Military 16	-7.66E-05	5.29E-05	-1.447143	0.1479
Population 50	-0.821237	2.413293	-0.340297	0.7336
Population 50–100	-1.167402	2.381601	-0.490175	0.6240
R-squared	0.443763	Mean depende	nt variance	0.950640
Adjusted R-squared	0.443595	S.D. depender	nt variance	2.671534
S.E. of regression	1.992766	Akaike info	criterion	4.217251
Sum squared resid	157796.3	Schwarz c	riterion	4.220061
Log likelihood	-83802.76	Hannan-Quin	n criterion	4.218141
F-statistic	2641.762	Durbin-Watso	on statistic	1.604083
Prob (F-statistic)	0.000000			

## TABLE 6

#### **Dependent Variable: Investment**

Variable	Coefficient	Std. Error	<b>T-Statistic</b>	Prob.
С	-3.462553	2.748689	-1.259711	0.2078
Asian	-0.000234	7.50E-05	-3.119394	0.0018
Black	2.13E-05	2.43E-05	0.876310	0.3809
Hispanic	-0.000260	3.14E-05	-8.281033	0.0000
Other	0.000426	6.09E-05	6.998461	0.0000
White	0.000399	1.77E-05	22.47989	0.0000
Median Household Income	5.81E-06	2.01E-06	2.900039	0.0037
Less than High School 25	-0.000138	3.35E-05	-4.126773	0.0000
Graduate Degree 25	0.000632	0.000102	6.221041	0.0000
Median Household Size	-0.168162	0.030155	-5.576521	0.0000
Male/Female Military 16	-9.92E-05	4.22E-05	-2.349157	0.0188
Population 50	3.554669	2.749673	1.292760	0.1961
Population 50–100	1.854150	2.716042	0.682666	0.4948
R-squared	0.440699	Mean depende	nt variance	0.991673
Adjusted R-squared	0.440530	S.D. depender	nt variance	2.789756
S.E. of regression	2.086673	Akaike info	criterion	4.309346
Sum squared resid	173018.7	Schwarz c	riterion	4.312156
Log likelihood	-85633.10	Hannan-Quin	n criterion	4.310236
F-statistic	2609.154	Durbin-Watso	on statistic	1.831160
Prob (F-statistic)	0.000000			

white and Other households, negatively correlated with Hispanic households, and was not correlated with the number of black or Asian households in a zip code. This regression is presented in Table 7.

Finally, we came to the analysis of our last variable: the actual, self-designated financial planners of the large and diverse group of those offering financial planning services. Again, our results were significant with quite different ethnicity effects even when holding income and education constant. The number of white households was again positively correlated with the number of financial planners in their zip code, as was the number of Other households. Increasing numbers of Hispanic and Asian households were associated with decreasing numbers of financial planners in a zip code. Interestingly, black household numbers were not significantly related to the dependent variable. If the supply of financial planning services is a response to the demand for such services, then our results are consistent with findings from previous studies, which found that "households with Hispanic and with Other/Asian respondents are significantly less likely to use financial planners than those with white or black respondents," and further suggests "that populations with substantial proportions of immigrants are underserved by financial planners."35 These statistical results are in Table 8.

From our findings, it is surprising that Asians are underserved by financial planning practitioners. While Asians are value-conscious with their purchasing decisions,36 and therefore may not believe that financial planning services are a worthwhile investment, they appear to fit financial advisors' "traditional narrow focus on affluent clients."37 In 2007, it was noted that "with total buying power of more than \$400 billion, Asian-Americans represent the most affluent minority consumer group in the U.S.... With a higher per-capita income than non-Hispanic whites, Asian Americans also trump their Hispanic counterparts with a per-capita income that is 85 percent higher than other minority groups."38 Asians were also reported to be the largest minority group with incomes of \$100,000 and above.<sup>39</sup> Further, between 2000 and 2010, Asians grew at a faster rate (43%) than other major ethnic groups and had the second largest numeric change (an increase of 4.4 mil-

## TABLE 7

#### **Dependent Variable: Legal**

(Method: least squares; included observations: 39,749; White heteroscedasticity-consistent standard errors & covariance)

Vesteble	0 41 - 1 4	Ctal Emer	T Constitution	Duch
variable	Coefficient	Sta. Error	I-Statistic	Prop.
С	-6.632587	2.451202	-2.705851	0.0068
Asian	-0.000201	0.000134	-1.493658	0.1353
Black	-1.65E-06	3.85E-05	-0.042927	0.9658
Hispanic	-0.000168	6.71E-05	-2.510039	0.0121
Other	0.000252	0.000116	2.171503	0.0299
White	7.37E-05	2.59E-05	2.843870	0.0045
Median Household Income	2.32E-06	4.12E-06	0.564110	0.5727
Less than High School 25	0.000156	5.14E-05	3.035320	0.0024
Graduate Degree 25	0.001103	0.000152	7.267499	0.0000
Median Household Size	-0.215557	0.063971	-3.369610	0.0008
Male/Female Military 16	4.01E-05	7.82E-05	-0.513591	0.6075
Population 50	7.098711	2.453583	2.893202	0.0038
Population 50–100	4.195642	2.395544	1.751436	0.0799
R-squared	0.069208	Mean depende	ent variance	0.836398
Adjusted R-squared	0.068927	S.D. depender	nt variance	5.054665
S.E. of regression	4.877355	Akaike info	criterion	6.007410
Sum squared resid	945263.4	Schwarz c	riterion	6.010220
Log likelihood	-119381.3	Hannan-Quin	n criterion	6.008300
F-statistic	246.2094	Durbin-Watso	on statistic	1.821009
Prob (F-statistic)	0.000000			

#### TABLE 8

#### **Dependent Variable: Planner**

Variable	Coefficient	Std. Error	<b>T-Statistic</b>	Prob.
С	-1.793460	1.218060	-1.472390	0.1409
Asian	-0.000101	3.58E-05	-2.823412	0.0048
Black	1.48E-05	1.19E-05	1.246781	0.2125
Hispanic	-0.000134	1.68E-05	-8.004843	0.0000
Other	0.000214	3.13E-05	6.838690	0.0000
White	0.000219	8.36E-06	26.16493	0.0000
Median Household Income	1.81E-06	9.29E-07	1.948218	0.0514
Less than High School 25	-6.58E-05	1.67E-05	-3.944479	0.0001
Graduate Degree 25	0.000230	4.62E-05	4.977308	0.0000
Median Household Size	-0.069419	0.014002	-4.957844	0.0000
Male/Female Military 16	-3.94E-05	2.25E-05	-1.750630	0.0800
Population 50	1.836002	1.218518	1.506751	0.1319
Population 50–100	0.892830	1.201832	0.742891	0.4576
R-squared	0.415235	Mean depende	nt variance	0.492692
Adjusted R-squared	0.415059	S.D. depender	nt variance	1.412497
S.E. of regression	1.080298	Akaike info	criterion	2.992678
Sum squared resid	46373.67	Schwarz c	riterion	2.995488
Log likelihood	-59464.99	Hannan-Quin	n criterion	2.993568
F-statistic	2351.343	Durbin-Watso	on statistic	1.823841
Prob (F-statistic)	0.000000			

lion),<sup>40</sup> presenting opportunities for financial planners in a high-growth, high-income market.

The summarized version of our results is shown in Table 9, with (+) marking positive correlations, (–) marking negative correlations, and "NS" marking relationships that were not significant. This table is a summary of the eight tables.

As expected, the number of white households in a zip code is consistently positively correlated with the number of listings for financial planners in that zip code. What is more interesting is to note the differences in impact on the prevalence of certain types of financial planning services in different ethnic-majority neighborhoods. Asian and Hispanic neighborhoods appear similar on many variables, as do black and white households. The number of Other households sometimes has similar tendencies as whites, yet on different variables appears more similar to Asian or Hispanic households. Whatever may be the reason for these differences, it is clear that differences do exist; the racial and ethnic makeup of a zip code most assuredly has an impact on the types of financial planning services offered therein.

## **Discussion and Implications**

We have been told by successful financial planners that they "just go where the money is" and "if you can't make a living you can't stay in business." Yet, it appears that there are substantial differences in the presence of different types of financial planning services in zip codes nationwide that are associated with ethnicity alone, even after controlling for income and education. Clearly, there is something at work in the field of financial planning besides simply "following the money."

Our analysis showed that in many ways these differences in the availability of financial planning services are between "established" ethnicities (white and black) and what we call "new immigrant" ethnicities (Asian and Hispanic). The Other category falls between these two groups.

As the white population rises, the number of each type of financial planning service provider tends to increase. As the black population rises, the numbers may not always go up but neither do they go down.

On the other hand, with few exceptions, the "new

immigrant" populations either had no statistical impact on the number of financial planning professionals or were negatively related. An increasing Hispanic population is associated with increased numbers of credit counselors, just as are the white and black populations, but has no impact on accounting and tax services or on CPAs, and also show a negative relation with other types of financial planners. The Asian population is statistically neutral with regards to credit counseling, accounting and tax services, CPAs, and legal services. However, the more Asian households, the fewer banking, insurance, investment, and financial planning service providers are in the neighborhood.

These are interesting patterns. With the exception of the Other category, the accounting and tax services, CPA, and credit counseling areas of financial planning are all neutral or positively associated with white, black, Asian, and Hispanic household counts. Each of these is a service area that is not associated with product sales and may be on more of a one-time basis rather than as part of a long-term relationship.

On the other hand, the insurance sales, investment advisor, legal services, and financial planner service providers may be associated with product sales or the revealing of more personal information and so tend to be based on longer-term trust relationships. These are the financial planning categories that are particularly sparse in the Asian and Hispanic communities. However, the numbers of these service providers tend to remain constant or increase with the number of black and white households in the neighborhood.

The current data are not able to identify precisely why there seems to be such a disconnect between the financial

TABLE 9					
	Asian	Black	Hispanic	White	Other
Accounting	NS	(+)	NS	(+)	NS
Banking	(-)	(+)	(-)	(+)	(-)
CPA	NS	(+)	NS	(+)	NS
Credit Counseling	NS	(+)	(+)	(+)	(-)
Insurance	(-)	(+)	(-)	(+)	(+)
Investment	(-)	NS	(-)	(+)	(+)
Legal	NS	NS	(-)	(+)	(+)
Planner	(-)	NS	(-)	(+)	(+)

JOURNAL OF FINANCIAL SERVICE PROFESSIONALS / NOVEMBER 2011

service professionals associated with insurance, investments, legal, and planning services, and the new immigrant populations. The data suggest that even new immigrant communities with similar incomes and educations will have far fewer financial service professionals than corresponding white communities. This could demonstrate a need to build better trust relationships between financial service professionals and these populations.

According to studies that address the issue of marketing to minority groups<sup>41</sup> (especially recent Asian and Hispanic immigrants who are yet to be acculturated), the solution is to have a financial planner on board who is from the same culture as the target minority group. This ethnic financial planner could come from within one's firm or via collaboration with another firm.<sup>42</sup>

There are other factors to note for each group. While African Americans state that respect is important to them, Asian consumers are concerned with relationships, and the Hispanic consumer is looking for trust.<sup>43</sup> Financial planners need to be aware of these and other needs and values of their target market and thereby offer appropriate services in response. Along with this, the industry could work toward the continued development of greater overall cultural sensitivity on the part of the professionals working in this area, for the purpose of promoting long-term relationships with Asian and Hispanic clients.

It may be difficult for traditional financial service professionals to learn new cultural cues and develop client relationships in the Asian and Hispanic markets and, for many, there is adequate business without entering these communities. However, for those who are willing to step outside their cultural comfort zone, there are many potential clients who, except for their ethnicity, would appear on paper to have income, education, and wealth attributes like more traditional black or white clients.

At the same time, we recognize that in many markets there are not nearly enough qualified financial service professionals—as opposed to "salesmen"—to meet the existing needs of the traditional markets. We believe that continued active recruitment and training of individuals from the Asian and Hispanic communities to become financial service professionals is a positive step toward bridging the financial planning ethnicity gap.

There may also be a corresponding need for greater

educational outreach to minority populations. Some universities<sup>44</sup> have begun new personal financial literacy and planning programs, in cooperation with local Society of Financial Service Professionals and Financial Planning Association chapters, specifically to teach college students from all ethnic backgrounds about the range of services that can be provided by these professionals. While these programs are still in their relative infancy, anecdotal data suggest that such awareness and skill building also helps students' family members and friends within these underserved populations recognize and respond to the need for long-term financial planning relationships.

It has also been suggested<sup>45</sup> that consumers may be responding to the phenomenon of many product salesmen calling themselves financial planners while selling overpriced, poorly designed products and not actually providing financial planning services. Public education programs informing the underserved communities about what should be expected from a financial planner, and ways to distinguish between real and phony planners, may also be quite impactful.

Presently, across the whole marketplace, there is "a lot of confusion regarding what planners do, and whether their services are valuable."<sup>46</sup> Consumers not working with a financial planner tend "to believe that financial planners are just salespeople who want you to buy something, and that people should save money by doing their own financial planning."<sup>47</sup> Further, consumers have the impression that financial planning relates to investments and retirement planning,<sup>48</sup> since "about half of survey takers agree with the statement, 'Hiring a financial planner only makes sense if they can help you get a higher rate of return on your investments than you can get on your own."<sup>49</sup>

While such opinions appear to be prevalent across ethnic groups, the previously cited marketing literature regarding the importance of trust and relationship suggests to us that these apparent misconceptions about the nature and role of professional financial planning would be particularly impactful on efforts to market to the Asian and Hispanic populations. Presumably correcting such misconceptions through targeted educational, marketing, and public information programs could promote long-term trust relationships among the Asian and Hispanic communities.

## **Further Research**

As an exploratory analysis, this research only aimed at providing a description of a relationship not previously studied in the literature. Now that we have established the correlation of neighborhood race and ethnicity to the type of financial planning services offered in that area, a myriad of causality-seeking studies are in order. Why does the presence of Asian and Hispanic households seem to discourage financial planners, investment service providers, and insurance agents from establishing a presence in a zip code? Why is an increase in black households correlated with an increase in accounting, credit counseling, banking, and insurance, but ambivalent to the presence of financial planners themselves? Why do households of nonmajor ethnic and racial groups seem to have a negative impact on the number of banks and credit counseling providers in a zip code, but a positive or insignificant impact on the others? While we have postulated answers for some of these questions in our analysis, there is a great deal of room for future research to conduct empirical studies of these issues.

Possible factors to explain these differences might include cultural expectations that conflict with traditional white American values, people's occupation, their religion, or even their comfort level with the English language. Additional demographic variables such as age and gender might also add explanatory power to future studies. It is also possible that minority neighborhoods simply present a new target market for financial planners—if minorities have not been taught about the need for specific types of financial planning services, it is not surprising that they would not desire them.

Since we used zip code level data for our analysis, it is possible that something besides race and ethnicity is actually responsible for the increase or decrease of financial planners in particular types of neighborhoods. Because of this, future research could be done at the household level to confirm or reinterpret our analysis. In addition, as mentioned previously, we did not take into consideration the 34% of financial planning professionals listed in the superpages.com database who gave no indication of what specific services they provided. It is possible that these listings may narrow the differences identified in this study, but this hypothesis must again be supported (or rejected) by future study.

## Conclusion

Professionals in the financial planning industry clearly face a diverse market. Though white and black households may invest differently, financial planners appear to provide similar levels of access to financial planning services to these communities, regardless of education and income levels. On the contrary, financial planners appear to offer fewer financial planning services to communities with a greater presence of Hispanics, Asians, or people of other minority backgrounds.

This presents both a puzzle and an opportunity to the world of financial planning. With more research, perhaps this gap can be closed through a combination of (1) greater efforts in financial education of ethnic communities, (2) better understanding by financial planners of the cultural norms of ethnic communities regarding investment, (3) an increase in the number of financial planners who choose to open businesses in minoritydominated neighborhoods, and (4) the encouragement of minorities to enter the financial planning profession.

Whatever the answer to the puzzle, one thing must be acknowledged by today's financial planners: diversity makes a difference.

James Chong, PhD, is an associate professor and associate director of the Center for Financial Planning and Investment at California State University, Northridge. He received his undergraduate qualification in accounting from Nanyang Technological University, an MS in finance from Lancaster University, an MS in financial mathematics from the University of Chicago, and his PhD in finance from the ICMA Centre, the University of Reading. He may be reached at jchong@csun.edu.

A. Lynn Phillips received her BA in sociology from Grove City College and is on the marketing research staff of MacroRisk Analytics. She is also a graduate student studying survey research and methodology at the University of Nebraska, Lincoln. She may be reached at Iphillips@huskers.unl.edu.

G. Michael Phillips, PhD, is the director of the Center for Financial Planning and Investment and a professor of finance, real estate, and insurance at California State University, Northridge, a Society of FSP University Partner institution. He also serves as chief scientist for MacroRisk Analytics. He received his BS in mathematics and economics from Illinois State University and his PhD from the University of California, San Diego, with specializations in econometrics and applied economics. He may be reached at mphillips@csun.edu. (1) D.A. Plath and T.H. Stevenson, "Financial Services and the African-American Market: What Every Financial Planner Should Know," *Financial Services Review* 94 (2000): 343–359.

(2) S. Choudhury, "Racial and Ethnic Differences in Wealth and Asset Choices," *Social Security Bulletin* 64 (2001-2002): 1–15; S.D. Hanna and S. Lindamood, "The Decrease in Stock Ownership by Minority Households," *Financial Counseling and Planning* 19 (2008): 46–58.

(3) J. Chong, J. Dow, and G.M. Phillips, "Neighborhood Effects and Asset Allocation," *Journal of Interdisciplinary Economics* 23 (2011): 37–52.
(4) R. King, "Consumer Demographics: Use Demographic Resources to Target Specific Audiences," *Financial Planning Association Research Spotlight* 2010q4 (2010): 4–6.

(5) P.S. Sunderland, E.G. Taylor, and R.M. Denny, "Being Mexican and American: Negotiating Ethnicity in the Practice of Market Research," *Human Organization* 63 (2004): 373–380.

(6) D. Lakhan, "More to Segmentation Than Assets," Investment Executive (May 30, 2011). Available at http://www.investmentexecutive.com/ client/en/News/DetailNews.asp?Id=58289&cat=30&IdSection=30& PageMem=&nbNews=&IdPub=.

(7) L. Vincent, "Reaching Diverse Markets," *Advisor Today* (2005). Available at http://www.advisortoday.com/archives/article.cfm?articleID=920; and L. Singh, "Building Your Practice by Reaching Diverse Markets," *Advisor Today* (2007). Available at http://www.advisortoday.com/archives/article.cfm?articleID=746.

(8) Investopedia, "The Alphabet Soup of Financial Certifications," (November 26, 2010), available at http://www.investopedia.com/articles/ 01/101001.asp#axzz1Quv7i0QG.

(9) Such a large number should not come as a surprise since, "some 5,000 CPAs now boast a 'personal financial specialist' credential, up 28% since 2008, and another 7,650 accountants are now certified as financial planners by the Certified Financial Planner Board of Standards." J. Mincer, "Rise of the Accountant-Adviser," *SmartMoney* (May 6, 2011). Available at http://www.smartmoney.com/invest/stocks/should-your-accountant-be-your-financial-planner-too-1304635380449/.

(10) Ibid.

(11) K. Black, C.S. Ciccotello, and H.D. Skipper (2002) presented a theoretical argument for the need of a financial planning generalist (e.g., CFP) over a specialist (e.g., CPA), in a so-called "planner model." In such a model, "The information asymmetry between client and planner will be larger than that between planner and specialist. Therefore, the credentials of those financial service specialists will be comparatively less valuable, *ceteris paribus*. This dynamic explains the desire to cast oneself as a financial planner, regardless of whether one does financial planning." Black, Ciccotello, and Skipper, "Issues in Comprehensive Personal Financial Planning," *Financial Services Review* 11 (2002): 1–9.

(12) Financial Planning Standards Board, "The State of the Financial Planning Profession in the 'Post-Trust' Era," (December 2009). Available at http://www.financialplanning.org.uk/pdfs/FPSB%20Global%20 Position%20 Paper%20 (1%20December%202009).pdf.

(13) E. Sapong, "Diversity Is Top Priority of Financial Services Industry," *Buffalo News* (June 8, 2011). Available at http://www.buffalonews.com/business/article448659.ece.

(14) Certified Financial Planner Board of Standards, Inc., "Diversity and Financial Planning I: The Profession," *CFP Board Report* (July 2008). Available at http://www.cfp.net/certificants/boardreport\_7\_2008.asp.

(15) S. McClune, "What Do Financial Planning Services Consumers Look Like Now?" *Financial Planning Association Research Spotlight* 2010q1 (2010): 4–7.

(16) R.J. Powell, "Asset Minimums and How Planners Get Paid," *Financial Planning Association Research Spotlight 2008q3* (2008): 12–13.

(17) A. Bishaw and J. Semega, "Income, Earnings, and Poverty Data from the 2007 American Community Survey," *American Community Survey Reports* (August 2008). Available at http://www.census.gov/prod/2008pubs/acs-09.pdf.
(18) V.G. Perry, "Acculturation, Microculture and Banking: An Analysis of Hispanic Consumers in the USA," *Journal of Services Marketing* 22 (2008): 423–433.

(19) S. Rubenfeld, L. Sinclair, and R. Clement, "Second Language Learning and Acculturation: The Role of Motivation and Goal Content Congruence," *Canadian Journal of Applied Linguistics* 10 (2007): 309–323.

(20) M. Statman and G. Klimek, "Countries and Culture in Behavioral Finance," *CFA Institute* (September 2008): 38–44.

(21) U.O. Osili and A. Paulson, "What Can We Learn about Financial Access from U.S. Immigrants? The Role of Country of Origin Institutions and Immigrant Beliefs," *The World Bank Economic Review* 22 (2008): 431–455.

(22) L.A. Keister, "Religion and Wealth: The Role of Religious Affiliation and Participation in Early Adult Asset Accumulation," *Social Forces* 82 (2003): 173–205.

(23) Federal Deposit Insurance Corporation, "FDIC National Survey of Unbanked and Underbanked Households," (December 2009). Available at http://www.fdic.gov/householdsurvey/full\_report.pdf.

(24) Osili and Paulson, "What Can We Learn about Financial Access from U.S. Immigrants?"

(25) *Ibid*.

(26) FINRA Investor Education Foundation, "Financial Capability in the United States," *National Financial Capability Study* (December 2009). Available at http://www.finrafoundation.org/web/groups/foundation/ @foundation/documents/foundation/p120536.pdf.

(27) M. Courchane, A. Gailey, and P. Zorn, "Consumer Credit Literacy: What Price Perception?" *Journal of Economics and Business* 60 (2008): 125–138.

(28) The Hispanic Institute, "Hispanics and Retirement: Challenges and Opportunities" (2009). Available at http://www.thehispanic institute.net/files/u2/white-paper-hispanics-and-retirement-english.pdf; and FINRA Investor Education Foundation, "Financial Capability in the United States."

(29) Plath and Stevenson, "Financial Services and the African-American Market."

(30) D.A. Plath and T.H. Stevenson, "Financial Services Consumption Behavior across Hispanic American Consumers," *Journal of Business Research* 58 (2005): 1089–1099; and T.H. Stevenson and D.A. Plath, "Marketing Financial Services to Hispanic American Consumers: A Portfolio-Centric Analysis," *Journal of Services Marketing* 20 (2006): 37–50. (31) M. van Rooji, A. Lusardi, and R. Alessie, "Financial Literacy and Stock Market Participation," *Journal of Financial Economics* 101 (2011): 449–472.

(32) R.B. Barsky, F.T. Juster, M.S. Kimball, and M.D. Shapiro, "Preference Parameters and Behavioral Heterogeneity: An Experimental Approach in the Health and Retirement Study," *Quarterly Journal of Economics* 112 (1997): 537–579; and R. Yao, M.S. Gutter, and S.D. Hanna, "The Financial Risk Tolerance of Blacks, Hispanics, and Whites," *Financial Counseling and Planning* 16 (2005): 51–62.

(33) M. Statman and J.A. Weng, "Investments across Cultures," *Journal of Investment Consulting* 11 (2010): 37–44; and C.K. Hsee and E.U. Weber, "Cross-National Differences in Risk Preference and Lay Predictions," *Journal of Behavioral Decision Making* 12 (1999): 165–179.

(34) S.D. Hanna and S. Lindamood, "Quantifying the Economic Benefits of Personal Financial Planning," *Financial Services Review* 19 (2010): 111–127.

(35) S.D. Hanna, "The Demand for Financial Planning Services," *Proceedings of the Academy of Financial Services* (2010). Available at http://www.academyfinancial.org/ProceedingsALT2010.html; and S.A. Elmerick, C.P. Montalto, and J.J. Fox, "Use of Financial Planners by U.S. Households," *Financial Services Review* 11 (2002): 217–213.

(36) K. Krebsbach, "Marketing: Affluent Asian Americans Elusive for Some Banks," *US Banker* (February 2007). Available at http://www.american banker.com/usb\_issues/117\_2/-302277-1.html.

(37) D. Iannicola and J. Parker, "Barriers to Financial Advice for Non-Affluent Consumers," The Financial Literacy Group (September 2010). Available at http://www.soa.org/files/pdf/research-2010-barriers-consumers.pdf.

(38) Krebsbach, "Marketing: Affluent Asian Americans Elusive for Some Banks."

(39) Ibid.

(40) K.R. Humes, N.A. Jones, and R.R. Ramirez, "Overview of Race and Hispanic Origin: 2010 (2010 Census Briefs)," (Washington, DC: United States Census Bureau, March 2011). Available at http://www.census.gov/prod/cen2010/ briefs/c2010br-02.pdf.

(41) Krebsbach, "Marketing: Affluent Asian Americans Elusive for Some Banks"; and Plath and Stevenson, "Financial Services and the African-American Market"; and Singh, "Building Your Practice by Reaching Diverse Markets"; and Stevenson and Plath, "Marketing Financial Services to Hispanic American Consumers"; and Vincent, "Reaching Diverse Markets."

(42) Singh, "Building Your Practice by Reaching Diverse Markets."

(43) Vincent, "Reaching Diverse Markets."

(44) See, for instance, www.CFPIonline.org.

(45) We wish to thank an anonymous reviewer for suggesting this point.
(46) S. McClune, "Consumers Still Unsure about What Financial Planners Do," *Financial Planning Association Research Spotlight 2010q2* (2008): 4–6.

(47) *Ibid*; and C. Nelson, "Where Consumers Turn for Financial Advice, and

Why," *Financial Planning Association Research Spotlight 2010q2* (2008): 1–3.
 (48) McClune, "Consumers Still Unsure about What Financial Planners Do."

(49) Nelson, "Where Consumers Turn for Financial Advice, and Why."

# **Journal Reader Services**

How to Contact the Journal of Financial Service Professionals

- Mail: 19 Campus Blvd., Ste. 100 Newtown Square, PA 19073-3239
- Customer Service: 800-392-6900 Advertising: 856-768-9360 Editorial/Production: 610-526-2525

#### Article Submissions/Letters to the Editor

- For article submissions, contact Nicole Gilchrist at 610-499-1180 to receive more information, author guidelines, and editorial calendar.
- Send submissions as an attached Word document to kbtacchino@widener.edu and journal@widener.edu.

#### Subscriber Services & Back Issues

 New subscriptions, renewals, subscription payments, change of address, back copies, billing questions: Include mailing label and write to: Member Services Dept., 19 Campus Blvd., Ste. 100, Newtown Square, PA 19073-3239. Phone: 800-392-6900—Mon.-Fri. 9a.m.-4:30p.m. ET.

#### **Editorial Reprints/Permissions**

• To order article reprints call 866-487-5625. To request reprint permission, contact Copyright Clearance Center, www.copyright.com.

#### **Articles Online**

- Journal articles dating back to 1994 are available at www.financialpro.org to Journal subscribers. Member or subscriber ID number is needed to access articles.
- Articles are accessible online to libraries that subscribe to the EBSCO product line.

#### Journal Advertising/Mailing Lists

- See page 6 for address of advertising sales office.
- Journal of Financial Service Professionals does not release its subscriber list.

#### Web Site/Conferences/Other Services

- Access information about Society events, products, and services on our Web site, www.financialpro.org.
- Web site advertising is available. For more information, contact M.J. Mrvica Associates at 856-768-9360.

Copyright of Journal of Financial Service Professionals is the property of Society of Financial Service Professionals and its content may not be copied or emailed to multiple sites or posted to a listserv without the copyright holder's express written permission. However, users may print, download, or email articles for individual use.